## \*CONFIDENTIAL

n #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
1			Welch Allyn Sure Temp Plus 690 Thermometer, or approved equal	30	D EA	SCHOOL NURSE SUPPLY INC (PRIMARY)	299.00	89,700.00
						CIRCLE OF PROFESSIONALS INC (ALTERNATE)	306.57	91,971.00
						WILLIAM V MACGILL AND CO (ALTERNATE)	339.00	101,700.00
						SCHOOL HEALTH CORP (ALTERNATE)	339.52	101,856.00
						HENRY SCHEIN (ALTERNATE)	347.75	104,325.00
						PACIFIC STAR CORPORATION (ALTERNATE)	350.95	105,285.00
						SMARTGROUP SYSTEMS (ALTERNATE)	425.00	127,500.00
2	Y		Welch Allyn Sure Temp Probe (Oral) or approved equal	1	5 EA	CIRCLE OF PROFESSIONALS INC (PRIMARY)	93.00	1,395.00
						SCHOOL NURSE SUPPLY INC (ALTERNATE)	101.70	1,525.50
						WILLIAM V MACGILL AND CO (ALTERNATE)	105.09	1,576.35
						SCHOOL HEALTH CORP (ALTERNATE)	106.68	
						PACIFIC STAR CORPORATION (ALTERNATE)	121.20	1,818.00
						HENRY SCHEIN (ALTERNATE)	136.89	2,053.35
						SMARTGROUP SYSTEMS (ALTERNATE)	425.00	6,375.00
3			Wheelchair w/ adj. leg rests or approved equal	3	3 EA	NATIONAL SEATING AND MOBILITY INC	0.01	0.03
	Υ					CIRCLE OF PROFESSIONALS INC (PRIMARY)	184.00	552.00
						PACIFIC STAR CORPORATION (ALTERNATE)	185.91	557.73
						*VWR FUNDING INC (ALTERNATE)		
					SCHOOL HEALTH CORP (ALTERNATE) SMARTGROUP SYSTEMS (ALTERNATE)	SCHOOL HEALTH CORP	285.82	857.46
						342.00	1,026.00	
						SCHOOL NURSE SUPPLY INC	355.50	1,066.50
						HENRY SCHEIN (ALTERNATE)	466.57	1,399.71
4	Y	reinforced windlass, writeable windlass s	Combat Application Tourniquet, Single Routing Buckle, reinforced windlass, stabilization plate, windlass clip and writeable windlass security strap. Open Length: 37.5" Weight: 2.7 oz	100	D EA	*VWR FUNDING INC (PRIMARY)		
						HENRY SCHEIN (ALTERNATE)	25.94	2,594.00
						SCHOOL HEALTH CORP (ALTERNATE)	29.54	2,954.00
						SCHOOL NURSE SUPPLY INC (ALTERNATE)	29.70	2,970.00
						WILLIAM V MACGILL AND CO (ALTERNATE)	30.69	3,069.00
						CIRCLE OF PROFESSIONALS INC (ALTERNATE)	36.00	3,600.00

1							
					PACIFIC STAR CORPORATION (ALTERNATE)	36.53	3,653.00
					SMARTGROUP SYSTEMS (ALTERNATE)	50.00	5,000.00
5	Y	Good-Lite Illuminated Cabinet w/LED, includes Snellen, Tumbling E, and HOTV charts or approved equal	2	EA	HENRY SCHEIN (PRIMARY)	337.26	674.52
					WILLIAM V MACGILL AND CO (ALTERNATE)	386.83	773.66
					SMARTGROUP SYSTEMS (ALTERNATE)	448.00	896.00
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	487.50	975.00
					SCHOOL HEALTH CORP (ALTERNATE)	2,746.68	5,493.36
6	Y	Good-Lite Acuity Chart (10 ft), Symbols, HOTV, Snellen, and Tumbling "E" or approved equal	2	EA	WILLIAM V MACGILL AND CO (PRIMARY)	21.86	43.72
					HENRY SCHEIN (ALTERNATE)	24.64	49.28
					SCHOOL HEALTH CORP (ALTERNATE)	45.98	91.96
					SMARTGROUP SYSTEMS (ALTERNATE)	62.72	125.44
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	180.00	360.00
7	Y	Welch Allyn Otoscope 3.5V or approved equal	2	EA	SMARTGROUP SYSTEMS (PRIMARY)	207.00	414.00
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	311.30	622.60
					HENRY SCHEIN (ALTERNATE)	384.48	768.96
					PACIFIC STAR CORPORATION (ALTERNATE)	512.00	1,024.00
					*VWR FUNDING INC (ALTERNATE)		
					SCHOOL NURSE SUPPLY INC (ALTERNATE)	805.50	1,611.00
					WILLIAM V MACGILL AND CO (ALTERNATE)	836.07	1,672.14
					SCHOOL HEALTH CORP (ALTERNATE)	861.20	1,722.40
8	Y	Replacement Battery 3.5V (rechargeable) or approved equal	50	EA	SMARTGROUP SYSTEMS (PRIMARY)	31.20	1,560.00
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	52.00	2,600.00
					WILLIAM V MACGILL AND CO (ALTERNATE)	59.52	2,976.00
					SCHOOL HEALTH CORP (ALTERNATE)	62.10	3,105.00
					HENRY SCHEIN (ALTERNATE)	64.41	3,220.50
					SCHOOL NURSE SUPPLY INC (ALTERNATE)	67.50	3,375.00
					PACIFIC STAR CORPORATION (ALTERNATE)	73.04	3,652.00
9	Y	γ Otoscope Replacement Bulb or approved equal	10	EA	CIRCLE OF PROFESSIONALS INC (PRIMARY)	24.00	240.00
					SCHOOL HEALTH CORP (ALTERNATE)	29.80	298.00
					HENRY SCHEIN (ALTERNATE)	30.25	302.50
					WILLIAM V MACGILL AND CO (ALTERNATE)	31.61	316.10
					SCHOOL NURSE SUPPLY INC (ALTERNATE)	34.20	342.00

				PACIFIC STAR CORPORATION (ALTERNATE)	35.71	357.10
				SMARTGROUP SYSTEMS (ALTERNATE)	37.12	371.20
10	Y	Welch Allyn pocket Aneroid (adult) or approved equal	5 EA	HENRY SCHEIN (PRIMARY)	20.05	100.25
				CIRCLE OF PROFESSIONALS INC (ALTERNATE)	34.89	174.45
				PACIFIC STAR	39.24	196.20
				CORPORATION (ALTERNATE)		
				SCHOOL NURSE SUPPLY INC (ALTERNATE)	103.50	517.50
				*VWR FUNDING INC (ALTERNATE)		
				SMARTGROUP SYSTEMS (ALTERNATE)	293.40	1,467.00
				SCHOOL HEALTH CORP (ALTERNATE)	386.15	1,930.75
11	Y	Welch Allyn Large Adult-Size Cuff & Bladder or approved equal	5 EA	CIRCLE OF PROFESSIONALS INC (PRIMARY)	21.18	105.90
				SMARTGROUP SYSTEMS	26.40	132.00
				(ALTERNATE) SCHOOL NURSE SUPPLY	31.95	159.75
			INC (ALTERNATE) PACIFIC STAR	32.43	162.15	
			CORPORATION (ALTERNATE)			
				HENRY SCHEIN (ALTERNATE)	63.12	315.60
				*VWR FUNDING INC (ALTERNATE)		
				SCHOOL HEALTH CORP (ALTERNATE)	93.00	465.00
12	12 Y	Y Welch Allyn Child-Size Cuff & Bladder or approved equal	5 EA	CIRCLE OF PROFESSIONALS INC (PRIMARY)	16.74	83.70
				PACIFIC STAR CORPORATION (ALTERNATE)	23.21	116.05
				SCHOOL NURSE SUPPLY INC (ALTERNATE)	26.33	131.65
				SMARTGROUP SYSTEMS (ALTERNATE)	33.60	168.00
				HENRY SCHEIN	91.44	457.20
				(ALTERNATE)  *VWR FUNDING INC		
				(ALTERNATE) SCHOOL HEALTH CORP	132.86	664.30
13	Y	StethoscopeLittmann Classic II or approved equal	5 EA	(ALTERNATE) HENRY SCHEIN (PRIMARY)	123.85	619.25
				SCHOOL NURSE SUPPLY	125.10	625.50
			INC (ALTERNATE) PACIFIC STAR	127.49	637.45	
				CORPORATION (ALTERNATE)		
				SCHOOL HEALTH CORP (ALTERNATE)	127.72	638.60
			WILLIAM V MACGILL AND CO (ALTERNATE)	129.27	646.35	
				CIRCLE OF PROFESSIONALS INC (ALTERNATE)	136.70	683.50
				SMARTGROUP SYSTEMS	148.80	744.00
				(ALTERNATE)  *VWR FUNDING INC		
14	Y	Examining Lamp w/ floor base (3-wire plug) or approved equal	2 EA	(ALTERNATE) SCHOOL NURSE SUPPLY	116.10	232.20
				INC (PRIMARY) HENRY SCHEIN	144.21	288.42
				(ALTERNATE) WILLIAM V MACGILL AND	147.25	294.50
				CO (ALTERNATE)		

					PACIFIC STAR CORPORATION (ALTERNATE)	173.08	346.16
					SMARTGROUP SYSTEMS (ALTERNATE)	259.20	518.40
					SCHOOL HEALTH CORP (ALTERNATE)	287.90	575.80
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	510.00	1,020.00
15	Υ	Fixed Cabinet (36H x 36W x 18D) or approved equal	1	EA	SMARTGROUP SYSTEMS	296.00	296.00
					(PRIMARY) PACIFIC STAR CORPORATION	368.50	368.50
					(ALTERNATE)  CIRCLE OF PROFESSIONALS INC (ALTERNATE)	405.00	405.00
					HENRY SCHEIN	1,569.26	1,569.26
16	Υ	Health-o-meter Professional Scale with Height rod, or approved	2	EA	(ALTERNATE) SCHOOL HEALTH CORP	247.17	494.34
	·	equal			(PRIMARY) SCHOOL NURSE SUPPLY	269.10	538.20
					INC (ALTERNATE) HENRY SCHEIN	279.14	558.28
					(ALTERNATE) WILLIAM V MACGILL AND	312.55	625.10
					CO (ALTERNATE) CIRCLE OF PROFESSIONALS		
					INC (ALTERNATE)	356.58	713.16
					*VWR FUNDING INC (ALTERNATE)		
					PACIFIC STAR	433.21	866.42
					CORPORATION (ALTERNATE)		
					SMARTGROUP SYSTEMS (ALTERNATE)	561.00	1,122.00
17	Υ	Pulse Oxymeter or approved equal	50	BD	SCHOOL NURSE SUPPLY INC (PRIMARY)	25.00	1,250.00
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	26.54	1,327.00
					WILLIAM V MACGILL AND CO (ALTERNATE)	27.85	1,392.50
					PACIFIC STAR CORPORATION	30.36	1,518.00
					(ALTERNATE) SMARTGROUP SYSTEMS	39.44	1,972.00
					(ALTERNATE) SCHOOL HEALTH CORP	43.21	2,160.50
					(ALTERNATE) HENRY SCHEIN	59.89	2,994.50
					(ALTERNATE) *VWR FUNDING INC		
					(ALTERNATE)		
18	Y	Google Eye Shield Encore Clear, or approved equal	30	EA	HENRY SCHEIN (PRIMARY)	0.81	24.30
					CIRCLE OF PROFESSIONALS INC (ALTERNATE)	3.03	90.90
					*VWR FUNDING INC (ALTERNATE)		
					SMARTGROUP SYSTEMS (ALTERNATE)	5.12	153.60
					PACIFIC STAR	5.86	175.80
					CORPORATION (ALTERNATE)		
					SCHOOL HEALTH CORP (ALTERNATE)	13.95	418.50
19		Infection Control Bundle includes: One isolation gown, One bouffant cap 21", One face mask with ties, One Pair of vinyl powder gloves, One pair of shoe covers, blue frame safety glasses, one package of (10) Nitrile exam gloves, or approved equal	32	BN	HENRY SCHEIN	0.00	0.00
	Υ				SMARTGROUP SYSTEMS	58.88	1,884.16
20		Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid	100	EA	(PRIMARY) HENRY SCHEIN	0.00	0.01
		50mL, or approved equal					

Personal Protection Ref. Later Fire Intuities. Die Solution ggrow, the Burdfred gover, One pair shee cares or sportword equal						*VWR FUNDING INC		
Denot Desc*   Provider 200mg/ml. 30ml, or approved equal   100 EA   MEMORY SCHEM   11.77   1.17		Y						
21   Y							8.64	864.00
Demo Desc** Fowder 200mg/mt 18ms, or approved equal   100 EA							11.72	1,173.00
Y							11./3	1,173.00
Pensand Protection Re-Latter Free inclides: One approved equal	21		Demo Dose® Powder 200mg/mL 10mL, or approved equal	100	EA	HENRY SCHEIN	0.00	0.01
22   Y   Demo Dose* Steril Water for Injections 10mL or approved   400   EA   TESTINATE   TWO PRIVATES OF THE PRIVATE   TWO		Y					7.20	720.00
22   Y						CIRCLE OF PROFESSIONALS	9.79	979.00
Demo Dese* Steril Water for Injections 10ml or approved equal   400 EA   SERRY CASEIN (PRIMARY)   5.89   2.85								
ALTERNATE    Sab	22	Υ		400	EA		5.89	2,356.00
Personal Protection Kit - Later Free includes: One isolation grown, One bourfant cap 21", One facemask with ites, One pair shore covers or approved equal							7.20	2,880.00
Personal Protection (it - Latex Free Includes: One Isolation gown, One bourfant cap 21', One facemask with ties, One pair vinyl powder gloves, One pair shoe covers or approved equal vi							9.80	3,920.00
Bown, One bourfanct ap 21", One facemask with ties, One pair viryl powder gloves, One pair shoe covers or approved equal								
CORPORATION	23	Y	gown, One bouffant cap 21", One facemask with ties, One pair	100	КТ	HENRY SCHEIN (PRIMARY)	11.92	1,192.00
ALTERNATE				CORPORATION (ALTERNATE)  SMARTGROUP SYS	CORPORATION	15.44	1,544.00	
WILLIAMY MACGILL AND   42.77   4.27							17.92	1,792.00
24   Y						WILLIAM V MACGILL AND	42.77	4,277.00
INC (ALTERNATE)   SMARTGROUP SYSTEMS   54.40   5,44   5,44   5,44   5,44   6   100   EA   HENRY SCHEIN (PRIMARY)   1.90	24	Y		100	EA		0.30	30.00
Y  E-Z Scrub Preoperative Surgical Scrub Brush 107 with 4% CHG or approved equal.  CIRCLE OF PROFESSIONALS INC (ALTERNATE)  SMARTGROUP SYSTEMS (ALTERNATE)  SMARTGROUP SYSTEMS (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  A7,148  47,148  ORPORATION (ALTERNATE)  Diagnostic Bundle includes: Adult aneroid sphygmomanometer, Geratherm* oral thermometer (non-mercury), Thermometer sheaths (non-mercury), Disposable penlight or approved equal  Y  Demo Dose* 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  Y  WE FUNDING INC (PRIMARY)  1.90  EA  HENRY SCHEIN (PRIMARY)  1.90  1.90  EA  HENRY SCHEIN  0.00  SMARTGROUP SYSTEMS (ALTERNATE)  46.42  47.14  ORPORATION (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  47.14  ORPORATION (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  FROM SCHOOL HEALTH CORP (ALTERNATE)  SCHOOL							1.88	188.00
or approved equal.  CIRCLE OF PROFESSIONALS  CIRCLE OF PROFESSIONALS  2.15  21  SMARTGROUP SYSTEMS  (ALTERNATE)  VWR FUNDING INC  (ALTERNATE)  SCHOOL HEALTH CORP  (ALTERNATE)  PACIFIC STAR  CORPORATION  (ALTERNATE)  PACIFIC STAR  47.14  47.14  A7.14  Open Dose** or all the momentury, Disposable penlight or approved equal  Y  Demo Dose** SW Dextros and 0.9% Sodium Chloride IV Fluid  1000 mL or approved equal  VWR FUNDING INC  (PRIMARY)  VWR FUNDING INC  (PRIMARY)							54.40	5,440.00
INC (ALTERNATE)  SMARTGROUP SYSTEMS (ALTERNATE)  VWR FUNDING INC (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  PACIFIC STAR CORPORATION (ALTERNATE)  A71.48  47,14  CORPORATION (ALTERNATE)  Y  Diagnostic Bundle includes: Adult aneroid sphygmomanometer, Geratherm® oral thermometer (non-mercury), Thermometer sheaths (non-mercury), Disposable penlight or approved equal  Y  Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 100 EA  HENRY SCHEIN 0.00  VWR FUNDING INC (PRIMARY)	25	Y		100	EA	HENRY SCHEIN (PRIMARY)	1.90	190.00
ACTERNATE  VWR FUNDING INC (ALTERNATE)  SCHOOL HEALTH CORP (ALTERNATE)  PACIFIC STAR (ATTERNATE)  PACIFIC STAR CORPORATION (ALTERNATE)  PACIFIC STAR CORPORATION (ALTERNATE)  PACIFIC STAR CORPORATION (ALTERNATE)  AT 1.48  47,14  CORPORATION (ALTERNATE)  BN HENRY SCHEIN  O.00  SMARTGROUP SYSTEMS (PRIMARY)  PERMONDANCE  TO Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  VWR FUNDING INC (PRIMARY)							2.15	215.00
Acternate School Health Corp (Alternate)  26 Diagnostic Bundle includes: Adult aneroid sphygmomanometer, Geratherm® oral thermometer (nonmercury), Thermometer sheaths (non-mercury), Disposable penlight or approved equal  Y  Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  Y    Acternate   School Health Corp (Alternate)   Add   Add   BN   HENRY SCHEIN   Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid   Demo Dose® 5% Dextros and 0.9% So							3.39	339.00
26 Diagnostic Bundle includes: Adult aneroid sphygmomanometer, Geratherm® oral thermometer (nonmercury), Thermometer sheaths (non-mercury), Disposable penlight or approved equal  Y Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  Y Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  VWR FUNDING INC (PRIMARY)								
CORPORATION (ALTERNATE)  26  Diagnostic Bundle includes: Adult aneroid sphygmomanometer, Geratherm® oral thermometer (non- mercury), Thermometer sheaths (non-mercury), Disposable penlight or approved equal  Y  Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  VWR FUNDING INC (PRIMARY)  VWR FUNDING INC (PRIMARY)						(ALTERNATE)	46.42	4,642.00
Diagnostic Bundle includes: Adult aneroid sphygmomanometer, Geratherm® oral thermometer (non-mercury), Thermometer sheaths (non-mercury), Disposable penlight or approved equal  Y  Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 100 EA  Personal SMARTGROUP SYSTEMS (PRIMARY)  Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 100 EA  WWR FUNDING INC (PRIMARY)						CORPORATION	471.48	47,148.00
Y  Demo Dose® 5% Dextros and 0.9% Sodium Chloride IV Fluid 1000 mL or approved equal  Y  SMARTGROUP SYSTEMS (PRIMARY)  EA HENRY SCHEIN 0.00  VWR FUNDING INC (PRIMARY)	26		sphygmomanometer, Geratherm® oral thermometer (non- mercury), Thermometer sheaths (non-mercury), Disposable	44	BN		0.00	0.00
27 Demo Dose* 5% Dextros and 0.9% Sodium Chloride IV Fluid 100 EA HENRY SCHEIN 0.00  YWR FUNDING INC (PRIMARY)		Y					50.40	2,217.60
(PRIMARY)	27			100	EA		0.00	0.01
SMARTGROUP SYSTEMS 5.76 57		Y				(PRIMARY)		
(ALTERNATE)						SMARTGROUP SYSTEMS (ALTERNATE)	5.76	576.00

					CIRCLE OF PROFESSIONALS	13.75	1,375.00
					INC (ALTERNATE)		
28		Demo Dose Measles, Mumps and Rubella (MMR) A and B 0.5 mL or approved equal	100	EA	HENRY SCHEIN	0.00	0.01
	Υ				SMARTGROUP SYSTEMS (PRIMARY)	7.71	771.00
				CIRCLE OF PROFESSIONALS	13.75	1,375.00	
					INC (ALTERNATE)		
					*VWR FUNDING INC (ALTERNATE)		
29		Demo Dose Penicillin G Potassium 5,000,000 units vial 20mL or	100	EA	HENRY SCHEIN	0.00	0.01
	Υ	approved equal			SMARTGROUP SYSTEMS	7.25	725.00
30		Demo Dose Steril Practice Drug 20mL or approved equal	100	EA	(PRIMARY) HENRY SCHEIN	0.00	0.01
	V				SMARTGROUP SYSTEMS	8.40	840.00
	Y				(PRIMARY)	0.40	
					*VWR FUNDING INC (ALTERNATE)		
31	.,	Oscillator for audiometers (Ambco or Beltone)	100	EA	HENRY SCHEIN SMARTGROUP SYSTEMS	0.00	129,900.00
	Y				(PRIMARY)	1,299.00	
32	V	Amplifier for audiometers (Ambco or Beltone)	100	EA	HENRY SCHEIN SMARTGROUP SYSTEMS	1,260.00	126,000.00
	Υ		100		(PRIMARY)		
33	Υ	Attenuator for audiometers (Ambco or Beltone)  Headphones for audiometers (Ambco or Beltone)	100		HENRY SCHEIN  SMARTGROUP SYSTEMS	0.00 216.24	21,624.00
	ī	,			(PRIMARY) SCHOOL HEALTH CORP	441.64	
					(ALTERNATE)		44,164.00
					HENRY SCHEIN (ALTERNATE)	480.91	48,091.00
					PACIFIC STAR	1,104.39	110,439.00
					CORPORATION (ALTERNATE)		
35	Υ	Zoll Powerheart G5 AED, Semi-Automatic	5	EA	SCHOOL HEALTH CORP (PRIMARY)	1,649.00	8,245.00
					SCHOOL NURSE SUPPLY INC (ALTERNATE)	1,695.00	8,475.00
					SMARTGROUP SYSTEMS	1,811.20	9,056.00
					(ALTERNATE) PACIFIC STAR	1,913.82	9,569.10
					CORPORATION (ALTERNATE)		
					HENRY SCHEIN (ALTERNATE)	1,994.23	9,971.15
					WILLIAM V MACGILL AND	2,049.15	10,245.75
					CO (ALTERNATE) CIRCLE OF PROFESSIONALS	2,483.18	12,415.90
					INC (ALTERNATE)		
36	Υ	Welch Allyn Spot Vision Screener	4	EA	CIRCLE OF PROFESSIONALS INC (PRIMARY)	2,484.68	9,938.72
					WILLIAM V MACGILL AND	7,322.00	29,288.00
					CO (ALTERNATE) SCHOOL HEALTH CORP	7,465.00	29,860.00
					(ALTERNATE) SCHOOL NURSE SUPPLY	7,695.00	30,780.00
					INC (ALTERNATE)		
					PACIFIC STAR CORPORATION (ALTERNATE)	8,044.56	32,178.24
					HENRY SCHEIN (ALTERNATE)	8,288.31	33,153.24
					*VWR FUNDING INC (ALTERNATE)		
					SMARTGROUP SYSTEMS	11,859.54	47,438.16
37		Calibration and/or repair of audiometer equipment (Ambco or	100	EA	(ALTERNATE) HENRY SCHEIN	0.00	0.01
		Beltone)			SMARTGROUP SYSTEMS	35.00	3,500.00
1		I	I	I			-,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Y				AUDITORY SYSTEMS LLC (PRIMARY)	48.00	4,800.00
				NATIONAL SEATING AND MOBILITY INC (ALTERNATE)	175.00	17,500.00
	Medical Equipment Service Rate	100	EA	HENRY SCHEIN	0.00	0.01
				SMARTGROUP SYSTEMS	35.00	3,500.00
Y				AUDITORY SYSTEMS LLC (PRIMARY)	48.00	4,800.00
				NATIONAL SEATING AND MOBILITY INC (ALTERNATE)	175.00	17,500.00